@
D

3.1

25 45
No (km®) | Ne (km)
1] s3 1084.05| 1 24.16
2 62.41
3 38.97
4 33.73
5 12.85
6 911.93
2| s-2 56.91( 7 9.65
8 12.21
9 6.97
10 28.08
3| s-1 56.28 11 32.15
12 24.13
4| 0-4 4 36.30] 13 24.39
14 11.91
0-3 3.90| 15 3.90
0-2 47.01) 16 34.19
17 12.82
0-1 1 3.93 18 3.93
N-7 86.47 19 74.73
20 7.17
21 4.57
9| N-6 20.35( 22 15.20
23 5.15
10| N-5 38.81 24 25.58
25 13.23
11| N-4 169.60| 26 156.06
27 7.91
28 5.63
12| N-3 1.35 29 1.35
13| N-2 230.51| 30 11.73
31 210.40
32 4.98
33 1.43
34 1.26
35 0.71
14| N-1 20.09| 36 8.55
37 11.00
38 0.54
15| Ss-2 2.93| 39 2.93
16| Ss-1 11.59| 40 11.59
17 | Hs-1 6.20 41 6.20
18| H-3 1.23| 42 1.23
19| H-2 1.50{ 43 1.50
20| H-1 1.35| 44 1.35
21| ch-1 3.20| 45 3.20
1,288.38 1,288.38
595.18 595.18
1,883.56 1,883.56

45
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2) L-Q

L-Q

63
25 63 )
L-Q )
L-Q
3.2 L-Q 45
L-Q L0
1 1
2 2
3 3
4 4
5 5
6 6
7 7
8 8
9 9
10 10
11 11
12 12
13 13
14 15 14
15 14
16 15
17 16
18 24 22
19 17
20 18
21 19
22 20
23 21
24 22
25 21 19
26 23
27 13 13
28 13 13
29 13 13
30 24
31 25
32 24 22
33 24 22
34 6 6
35 20 18
36 4 4
37 24 22
38 30 24
39 30 24
40 11 11
41 30 24
42 24 22
43 11 11
44 26 23
45 30 24

3.2 L-Q
" <D TN TP 5
) a b b a

1 10.011 1.161 306 1.245 36.073 1.542
2.261 0.869 1.484 1.138 032 0.838 2.587 0.977

0.00617 . 0.00180 0.00941
2 9.555 1.233 1.415 1.076 283 1.430 34.001 1.544
8 9.933 1.212 1.521 0.929 306 1.240 35.571 1.486
4 13.820 1.271 1.313 1.051 153 1.192 69.149 1.740
5 9.838 1.206 1.513 1.078 301 1.340 35.775 1.531
6 27.159 1.673 1.648 1.189 -380 1.750 181.560 1.870
2.898 1.063 0.928 1.108 031 1.077 7.691 1.269

0.02549 0.00087 0.02465 0.00521
7 10.034 1.160 L aa Lo 307 1.25 35.269 1.604
2.465 0.847 -039 0.861 5.467 1.124

0.01132 . 0.00491 0.02063
8 10.069 1.184 1.493 1.076 299 1.264 42.747 1.543
9 16.372 1.262 1.347 1.184 .108 1.293 108.540 1.744
10 13.372 1.275 1.372 1.216 154 1.229 58.312 1.527
u 13.525 1.156 1.310 1.077 1155 1.030 65.900 1.434
12 12.902 1.256 1.198 1.148 122 1.171 90.374 1.661
13 8.847 1.109 3.370 1.206 379 1.235 31.958 1.333
15 4.798 1.008 0.628 0.977 .10 1.147 8.275 1.089
16 14.076 1.281 1.370 1.107 1159 1.235 70.365 1.648
g 4.412 0.910 0.723 0.699 .099 0.778 6.858 0.913
9 9.449 1.253 1.151 1.141 .284 1.423 35.089 1.499
20 20.043 2.040 222 2.020 114330 2.671

1.194 1.132

1.963 0.890 .019 0.836 4.998 1.138

0.13249 - 0.12441 0.12964
21 20.043 2.040 222 2.020 89.090 2.011
2.206 0.985 1.348 1177 019 0.729 1.723 1.006

0.12336 . 0.14708 0.01968
2 20.043 2.040 L a0 L 1o 222 2.020 114.330 2.671
1.871 0.875 .029 0.935 1.501 0.873

0.13090 . 0.15078 0.08982
2 13.542 1.209 1.402 0.986 73 1.000 57.309 1.523
24 6.604 1.173 1.601 1.157 1159 1.136 33.054 1.842
26 20.043 2.040 222 2.020 114.330 2.671

1.384 1.163

3.921 1.053 125 1.219 3.288 0.988

0.19142 - 0.48657 0.12135
30 11.498 1.220 1.033 1.029 .089 0.977 53.071 1.578
81 7.638 1.283 0.932 1.157 o077 1.334 46.937 1.604
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